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1= 157, 551, 979
£ BE (-12m)
1= 157, 551, 979
R - RIET
1= 157, 551, 979
RAT EAMIEA (1) 219.00m 3. EAHIZA(2) 4,062.00m 3. JE&KKIEH (1) 59.00m 3.
1= 152, 818, 598 3E&IR1EL+F (2) 6,066.00m 3. FEKIRILAE MW 6,126.00m 3. T4 )LE—F (TR (1) 20.00m 3.
TA4ILE—FE(TRE (2) 1,610.00m3, Z4J/)L2—[E(TE) EME 1,630.00m3. T IL2—E(LRE (1) 28.00m3.
T4ILA—E(LRE) (2) 1,575.00m 3. 74 J)L2—[B(LE)EH 1,604.00m 3.
T4 —E(ERBHLA) 207.00m2, ZsL2—B(LE)HLQ2) 133.00m2.
T4 —E(ERBHL@G) 1,437.00m 2., BFRYS — FQOBER (1) 263.00m 2. B S— FOEER (2) 1,557.00m 2
BT EEMIZEAD 198.00m 3., EiBEHMIZAQ 363.00m 3, ZEHEHE 561.00m 3
1= 4,733, 381
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1= 15, 308, 010
HEBERZE (BL) RitEEE
1= 120, 000
HEBEREE (%)
1= 14, 352, 985
HBEREREE
1= 835, 025
HEEHE
1= 42,056, 835
TER(E
1= 214,916, 824
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1= 33,177,210
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1= 85, 966
TE{E%
1= 248,180, 000
¥ E I EMHE
1= 248,180, 000




